[#10]

[#11]

[#12]

[#13]

[(#14]

[#15]

[#16]

20

10

17

-17

-15

20

20

-17

-19

16

17

-11

20

17

11

-19

11

20

17

-15

13

-18

-15

11

12

13

11

20

12

-15

16

11

13

-19

-18

18

-18

16

-10

-16

-13

11

-13

-17

-11

16

-18
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-3 +(-5) = -8
3+ (+6) = 9
3-(-1) = 4
3-(-6) = 9
-7-(-3) = -4
-6 + (+7) = 1
-8+ (-2) = -10
1+ (-5) = -
-5-(+4) = 9
-5 + (+5) = 0
-7+ (+1) = -6
9- 0 = 16
1-(+6) = -
-3 - (+4) = -7
-5+ (+9) = 4
-7-(+3) = -10
9+ (-2 = -11
-1-(-3) = 2
-1-(+5) = -6
-7-(-2) = 5
6 - (+3) = 3
8 + (-5) = 3
5+ (+4) = 9
7+ (-5) = 2
6 - (+1) = 5
9 +(-3) = 6
4-(+8) = -4
-8 + (+4) = 4
-1-(+7) = -8
-6 +(-2) = -8


https://www.beesmart.me

[#10]

[#11]

[#12]

[#13]

[#14]

[#15]

[#16]

(-1) x (-8)

(+2) x (+5)

(-8) x (-8)

(+1) x (-6)

(+8) x (-4)

(-9)/(-3)

(+12) / (+6)

(+9) 7 (-9)

(+1) x (-3)

(+3) x (-6)

(-4) x (-4)

(-3) x (-5)

(+6) x (+2)

(-3) x (+7)

(-1) x (+1)

(-4) x (-9)
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(1) x (-8)
(+2) x (+5)
(-8) x (-8)
(+1) x (-6)
(+8) x (-4)
(-9)

(-3)

(+12)
(+6)

(+9)
(-9)

(+1) x (-3)
(+3) x (-6)
(-4) x (-4)
(-3) x (-5)
(+6) x (+2)
(-3) x (+7)
(-1) x (+1)
(-4) x (-9)

8
10
64
-6
-32

-18
16
15
12
-21

36


https://www.beesmart.me

/

#1] (-19) x (+1) =

-
o)

[#2] (-10) x (+1) =

=ad

—0)
=0
=1

[#3] (+15)/ (+1) =

[#4] (+3) / (+1) =

[#5] (+11)x (+1) =

[#6] (0)/(-53) =

#7] ((11)/ (+1) =

[#8] (+11) x (+1) =

[#9] (+14)/(-1) =

[#10] (+10) x (+1) =

[#11] (+17)/ (+1) =

[#12] (+15)/(-1) =

[#13] (-8)/ (+1) =

[#14] (+12) x (+1) =

[#15] (-16) / (+1) =

[#16] (-2) x (+1) =


https://www.beesmart.me
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[#1] (-19)x (+1) = -19 [(#16] -2)x (+1) = -
[#2] (-10) x (+1) = -10
[#3] (+15) _ 15

(+1)
(4] (+3) _ 2

(+1)
[#5] (+11) x(+1) = 11
[#6} ﬂ: 0

(-53)
[47] (-11) I

(+1)
[#8] +1D)x ) = 11
(4] (+14) -

-1
[#10] (+10) x (+1) = 10
#11] (+17) 47

(+1)
[#12] (+15) _ s

(-1)
[413] (-8) -

(+1)
[#14] (+12)x (+1) = 12
[415] (-16) 16

(+1)
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S5x[(4)+(3)]

T x[(1)+(3)]

9x[(1)+(-8)]

7x[9)+(-6)]

2x[(7) + (-]

8x[(-6)+(9)]

Ix[(3)+(2)]

6 x[(-2)+(9)]
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x[(@)+(3)] = (200 +(-15) = -20-15
x[(1) +(-3)] = (7N+(@1 = 7+21
x [ (1) +(-8)] = 9+ (72 = 9-72
x[(9) + (-6) ] = (63) + (-42) = 63-42
x [(7) +(-1)] = (14 + (-2 = 14-2
x [ (-6) +(9)] = (-48) + (72) = 48 +72
x[(-3) +(2)] = 3+ = 3+2
x[(-2) +(9)1] = (12) + (-54) = 12-54


https://www.beesmart.me

[1]+Cl6] ) x4 -(]3])1+(8)=

2]+ 1) [xT-1-([8])1-(6) =

9] + (-2)x [-9-(]-9]) T+ (]-3]) =

6] + (5)x[2-C[1)1+([7])=

|31+ (7 [ x D12 - ([8[)1-(-5) =

4+ (-2)x[[-9]-(-1)]1+(-8) =

[ O]+ (-4) | x[|8]-(5)]-(|6]) =

[-8+ (-8 ) | x[|1]-(-5)]-(-9)=
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WABLUUANTR 29 HadNS +-* 1wy

1] 1]+ (6] x D] - (]3))T+(8) = 48] |8+ (18 [x[|1]-(-5)1-(-9)=
x[d-3)]+(8)= [-8+(8)[x[1-(51-(-9)=
1)+(8)= |-8+(8)|x6-9=
8)= 0x6--9 =

15 0--9=
F2] |1+ (L) | x[-1-(J8[)1-(6) = 9

[1+ (1) x[1-@)1-(6)=

[1+(1)]x-9-6=

2x-9-6=

18-6=

24
#3] ]9 +(-2)x[-9-(]9)1+([|3])=

9+(-2)x[-9-91+(3)=

9+(-2)x(-18)+(3)=

9+(36)+(3)=

a8

[#al 16|+ (5)x[2-C|1)T1+C|7]) =
6+(5)x[2-(V+(7)=
6+(5)x(1)+(7)=
6+(5)+(7)=
18

51 113+ 7)) | x []-21- (18] ) 1-(-5) =
[3+(7)|x[2-®)]-(-5)=
[3+(7)]|x-6--5=
10x-6--5=
-60--5=
-55

[#6] -4l +(-2)x[]-9-(-1)]1+(-8) =
A+ (-2)x[9-11+(-8)=
4+(-2)x(10)+(-8)=
4+(-20)+(-8)=
-24

7] ]9l + (-4) | x[I8]-(5)1-(]6]) =
[9+(-4)[x[8-(B)]-(6)=
[9+(-4)[x3-6=
5x3-6=
15-6 =
9


https://www.beesmart.me

[#10]

[#11]

[#12]

[#13]

(#14]

[#15]

[#16]

-12 6

11

17

-16

-16

20

10

-14

20

-20

19

18
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9-(+9)
-6 + (+6)
-2-(-5)
-1-(+4)
2+(-2)
9 -(-6)
9-(+7)
9-(+9)
-3+ (+1)
-5 - (-9)
-9+ (+4)
5+ (+6)
-6 - (+2)
9-(+3)
-6 - (+1)
-5-(+6)
-7-(+2)
2+(-8)
2+(-2)
9- ()
8 +(-2)
9+ (1)
9 - (+4)
5-(-6)
-6 + (-4)
9-(-4)
-6 - (-8)
-9 -(+7)
9-(-1)
-7+ (+4)

11
-10
13

-16
10
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[#10]

[#11]

[#12]

[#13]

[#14]

[#15]

[#16]

+5)x(-2) =

(+6)/ (+3) =

(+12) / (+6) =

(+8)/ (-4) =

+12)/(-2) =

) x+7) =

+D)x(H+9) =

(-9/(3) =

(+12)/ (+2) =

(D) xH7) =

B)x (1) =

(-8)/(2) =

+4)/(-2) =

+9) x (-6) =

+9)/(+9) =

(-10)/ (+2) =
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[#10]
[#11]

[#12]

[#13]

[(#14]

(#15]

\DABLUUANYR IMHAANENNIAMUAZNITINTTIUIAY

(+5) x (-2)

(+6)
(+3)

(+12)
(+6)

(+8)
(-4)

(+12)
(-2)

(-9) x (+7)
(+1) x (+9)

(+4)

(+9) x (-6)

(+9)
(+9)

-10

-63

35

54

[#16]

(-10)
(+2)



https://www.beesmart.me

/

[#1] (+11)/ (+1) =

-
o)

[#2] (0)/(-9) =

=ad

—0)
=0
=1

#3] (0)/(-42) =

[#4] (-10) x (+1) =

#5] (+17)/(-1) =

[#6] (+18) x (+1) =

[#7] (-5)/(+1) =

[#8] (+5)/ (-1) =

[#9] (+10) / (+1) =

[#10] (0)/ (+62) =

[#11] (0)/(-22) =

(#12] (0)/ (-72) =

[#13] (+11)/(-1) =

[#14] (0)/ (-56) =

[#15] (0)/(-1) =

[#16] (-8)/(+1) =


https://www.beesmart.me
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(#8]

[#10]

[#11]

[#12]

WAWUUHNIR 29 Nadnsnalul

(0)

(42)
(-10)x (+1) = -10

(+18) x (+1) = 18

(-5)

=5
(+1)

(+5) _ s

[#13]

[#14]

[#15]

[#16]



https://www.beesmart.me

8x[(-8) +(-8)]

8x[(-4)+(6)]

Ix[(2)+ (7]

2x[(2)+(9)]

Ox [N +(8)]

ax[(M+(N]

Sx[9)+ (1]

SBx[(D)+(4)]
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8x[(-8) +(-8)] = (64)+(-64) = -64-64 = -128

8x[(-4)+(6)] = (-32) + (48) = -32+48 = 16
x[(2) +(7)] = (-14) + (49) = -14+49 = 35
x[(2) +(-9)] = (4)+(-18) = 4-18 = -14
x[(7)+(8)] = (63)+(-72) = 63-72 = -9
x [(7) +(-7)] = (28) +(-28) = 28-28 =0
x[9)+(-1)] = (-45) + (5) = -45+5 = -40
x [(1)+(4)] = (-3)+(12) = 3412 = 9


https://www.beesmart.me

41 | [5]+(5) | x[4-(2)]-(5)=

#2] -6+ (-2)x[|4]-(-5)]+(|5])=

(73] | 16] +(-4) | x[1-([7])1-(-8)

#a] T+ (121)x[-8-(|21)1+(3]) =

[#5]1 |7+ C|-6])|[xLl6]-C|5)1-([8])=

[#el |7+ (8) [ x[[-4]-(]-9)1-(]-8]) =

7] |5+ (4) | x[]3]-(5)1-(]9]) =

[#8] -5+ (L)x[]-5-C[9)1+(-3)
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LASLUURNTR JIMNARNG +,-,* S1UIULHY

(#11 [|5[+(5)|x[4-(2)]1-(5)= #7115+ (a) [ x[|-3]-(5)1-([9]) =
[5+(5)|x[4-(2]-(5)= [5+(4)|x[3-(5)]-(9)=
[5+(5)|x2-5= [5+(4)|x-2-9=
10x2-5= 9x-2-9=
20-5= -18-9 =
15 -27

(#2] -6+ (-2)x[]-4-(-5)1+(]5]) = [#8] -5+ (1) x[]-5]-(]9])]1+(-3)=
6+ (-2)x[B-(51+(5)= S+ (1)x[B-ON+(-3)=
6+(-2)x(9)+(5)= S+ (1)x(-4)+(-3)=
6+(-18)+(5)= S+(-4)+(-3)=
-19 -12

#3] | 16|+ (-4)[x[1-(]7])1-(-8)=
[6+(-4)|x[1-(M]-(-8)=
|6 +(-4)|x-6--8=
2x-6--8=
12--8 =
4

(Al -7+ (J2])x[-8-(|2)1+(]3])=
T+(2)x[-8-@1+(3)=
T+(2)x(-10)+(3) =
7+(-20)+(3)=
-24

[#5] |7+ (]6]) | xL]6]-(15)1-(|-8])=
[7+(6)|x[6-(5)]-(8)=
[7+(6)|x1-8=
13x1-8=
13-8 =
5

el -7+ (8) x4 -(]-9[)1-(}]-8]) =
[7+(8)|x[4-(91-(8)=
|[7+(8)|x-5-8=
15x-5-8=
-15-8 =
-83
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